-

—

| : ! ) ] Bookle ¢ ode - LP_JI

.

._ I “-l:lul?f;rg.;l_—

e of B {'i.llh[li.hrlr'

_—-_'_'_‘_—'——-T-_______ Signatiry o it
INST RUCTIONS T THE CANDIDATES Lo trvigater
Hl’-’%gﬂ eyl
ad the Instructions caréfully b
VErroem SO0l Soott e Bt i
Candidates should write thetr Hall T laﬁl
Bookliet with Black Ball Point P

He
fore Answerlng)

Aot ey SobodiRg)

Number and Mame i the space provided an Ouestion Paper

eninly

o T iodd b Bdiost S

o A e
oS aiel ealedies Job SO Joul B I s (mD) =

e a Y o W

=

: - ooy 8w - 2 -
------ -
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Soction - B contains 15 Questions of General Knowledge, (¢) Whether 80 multiple choice Que
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rime ¢ 2 Hours

jnstructions/Soeesye :
Each question Carrieg E
B8 EHS ag ey LT Magy
Choose the COrrecy or ad = o
questons ang darlmn
: ¥ . W

(D) in the cirela el h Hlﬂt‘:k Ball o ANavyg,
separately Supplieg A to Poyg . From yy, RBiven UPtiony ¢

i 0 voy, q““-“'-‘i[rn ‘”1'}*. the COrrespo| i the fol)
Dbl REN [:uﬂ @3% Numbar concernoed in tl-::%iiiﬂi”ﬁ]';m
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(A), (B), (C) Sge (D) .

4 e gy v RO e

I T (e BT OMR o R Blimem, o s ST e

- X Eb Eﬂﬁ&u rdmhmra' - o, = et T P

gi) In this question Paper fo ol 3, %) ax [De¥ate® B Somss
" caseof any discre Satl qUestiong ;.. NG arbodEa,

as correct and final,

& (BT)Set Eheo dep &b

(i)
(it}

iT'ﬁrmH
b (€ ) i
J'1| TSy oF 1.'!h'=“1_-

U ehos® smas
i SIRER),  etoeg.st S
BB e 500y g% bttt

SECTIQN . A

|, Choose a correct statement from the fuum,-ng ding current and potential franef
E : NSIOTITE
(A) Secondary of PT has single turn o 9 -
(B) Primary of PT has single turp

(C) Secondary of CT has single turn

(D Primary of CT has single turn
& (Bob (BB8rEus® 8ol [@@ﬁ;ﬁ ahOat ﬁﬂﬁ.gdﬁﬁ e So Haps $3:58 28 1 4

(A) TERaHE e=GNE Bbod AR a3 sy Fobe
B) EYODE (eS8 [Sey FosoRe® o By Jodhe
() $308 (eS8 Bych Bolohd® a8 By Jode
D) 55065 (tooG)arc§ (oe¥ Soliohe® el g Jodses

to water turbine through a b

In case of steam power station, water is taken
fom the valve house is knownas £
(© spillway (D) d

) surge tank (B) penstock s
- 508 Dsos H0Fak W s
5 20008 Bolgsse® B0 o8y T S8 g )
¥ a8y, Argatass Dbotih ¥ -
A) %8 empol B) 5P5 S
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T V)

1 Wave ol o o0 pepaeratiT® FHT‘i’i-h" i 'H‘l‘hﬂ#
{A) h,.um.,.:, t::ll:':ﬂﬂ‘ yullage im muore ¢ urrent EHI:.,.-.I“#-
(C)  ovovw current and e voliage (D) less clrremnl ar
HM -, i v -l.f':','ll..': — -"'"":"..-':L
,,_-;tﬂ,_,'_., AL W 2
(A) s el oo oy L (B sy o w0 OB :L#ﬂ#
3 (C) Seed @l soan caps LGE (D) a5 docd S0
’ LA phas supply is bulenced of phase anggle between WO e 1'I|;I1t|llillnf|~'ll|?:
A) 90t UL () 360 (D)
V-Cho Sl Sesoe MLE{&L&M%J&’EFLQ'M Sod ¥
(A) 90 M) 1807 (C) M0 (o) 120¢
5. MA .
| av,- Jy
“ w0
--v‘j-l-
A

The correct voltage equation of the above circuit s -

(A} V=V =V, 4V, B V,+V,=V,-V,

tc] v +'l' -v.l,'.tl' [ﬂj v -V -vl_va

BY IO Soatiue® 52 L{lmur

[A) V=V mV, 4V, B V,+V -?.-‘!f

<) v-.l'*?lﬂvl. ""v; {1y \\' -V -'\fiﬂ'u'L

mdhumimmm“
A)  shunt motee. .
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10.

I

P
(A) Ampy, . * (agneto motive force) is
(€)1 T (B) Ampere tuim [ metet
-‘blhﬁ;lﬁ ;n‘: (D)  Ampere turn meter
(A) i mww,
M fAne (B) wobab &5} |ttt
© 28 42

g "{E Water heater opera is € 3.00
_Water h, s B s If cost of each unit per w
nl. hwmhmm&l [I;rd;“;]_ :mjm ltmdmgﬁfwﬂﬂ'm

“ 'm (B) ¥ 1440.00 () T 1740.00 (D) t-'m'

3T mmmmm
M aﬁgﬂmmmwwh

3 =3

¢ MHD.00RNEN (C) ¥ 1740-00 Sy "n,*'"'i‘m

L4
- _,_—-..;ﬂ-, T —
I i
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185

. B respective torgue and slip of a Lphase induction motor d

[P}

riven at synchronous speed

e -
[A) Maximum and one (B)  Maximum and zero

(€} Zero and one (D) Zero and zero
£ S -

S8 3DE mod T A POEAS B)E S8 (B80T @D Aoty o) HOGR S S
(A) Moo Soam e (B) MBgo shbak M)
(© B Soak wre (D) oy 8cts Sy

If maximum value of a sine wave is 10 , then its average value over one complete cycle is
@) 1o (B) zero (Cy) 20 (D) 6.37

SEDS SCortis @t og Dendd 107 wonds* 18 Sodpy Suchnd® ob Soedh Dend dodf ?
Sl (B) zero (©) 20 (D) 637

The tendency of alternating current to concentrate near the surface of a conductor is known
as :

(A)- Ferranti effect (B) Corona

(€) Proximity effect (D) Skin effect

o8 DS orieditn Qnt adbdud s Soddoth dodd (B2 G5 Dot ?

(A) Eﬂ_ﬁmceﬁ [Eegmaio (B) #&%
(©) (=8 dod Hardo (D) %5 [Barso

Consider the following two statements :

(I). Rectifier converts A.C. supply into D.C. supply.

(I Inverter converts D.C. supply into A.C, supply.

{A) ‘Both statements (1) and (1) are wrong

{Bj M-ﬁtemmh[ﬂmd{maﬂw
{Hiscmrechbﬂtfﬂli!m
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17.

18.

[Bstrod 5008 aaty, Fidgs dod

PMMC |
10
: ;1 lfective ey L‘urn.h:mm‘ 15 uniform becaise of 4
) no eff _ M dampiy,

ffect due 1y & !.
{.C} Hprhxg oty exte magnetic fields |
a’ a&.m.ﬁ s
A % SRS a1y 8in Hdodans sfme 06 ! 1..

(B
) wasy &efy uﬁﬁ.&@&n.ﬂ' Blefston Sy e (oo A ditd
(€) [‘SJJDH Mulq_j'm S

(D) &igbas St FEde s Sod

In speed control of d.c. motors, armature voltage control and field current control are used to

obtain speeds : Base soncal i base speed respectively.

(A)  below ; above (B) below ; below

(C) above; above (D) above ; below

&8, Frerd o Aabolgnd® | w398 LIS dobogn L0 SF €808 Acholdes
Seew B B0 Fistns TrocnD ASTAE.

(A) (Bos i B (B) (Bow: 508

(C) B ipd m}; F

i »

A 6-pole d.c. generator runs at 1000 r-p.m. The frequency of current in the armatur
i5: - : o

(A) zero Hz "(B) 25 Hz (C) 50Hz - ®
o8 6th (oo K0I &, w el 1000 65825 ot 800

y ey o

(B) 253G,
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21,

P]

_inverse voltage

R k

Ea'l;-"ulla}_,"ruf = 2Vain(100m1) s applied to hall-wave rectifier circuil The pea

ACToNs the diode is =
(A) 2y T © VI3 (D) 2V
R s e e 488 Dol ¢
B ORI o=y2Vsin(100mt) LEED @ ST Lrsa¥s, s oy 85 '
{A} 2'\ ”-“ :; ._1_‘.' s {L' "r'r'r‘.'rz {D] ﬁ'\-’
e Ny ik

oy stor is 2ero,
mglbphas'- fullconverter is fed to a d.e. motor. The average "%PEE"J of the mc

When firing angle is -
$): o0 (B) 90° (C) 180° (D) 360°
E‘g S8, Brarc o 1 $E O 40 Dol HHor cudinadhpd, o Ferech HEF0 S
“l S5 . 200l %0 dod
¥ o B 90° ©) 180° (D) 360°

a8 fOmpared to constant - current system, the constant voltage system of charging a lead.
acid cell has the advantage of : ‘
(A) avoiding excessive gassing
{-Bj nlﬂ'ﬁ&ﬂmg time of charging
) decreasing cell capacity
m} fmﬂ'&aﬂmg the temperature

E @gedd S8odis for Job QR T Serdos® W £FED fore Jod

. "ﬁ MJDJ‘ &rod [gErmito DB ¢




26.

(A) Mf’uldnd
O
(<) Mt‘rlﬂded S0 Breaker () Main Case Clreuit Breaker
alaxy, By A0, S i Circuiy Breaker (13} - Main Current Clrcuit Breaker
(A) =
(C) :ﬁ = e £ (B) onS 35 Dyl (S5
2 Rog S 56 ) (D) bonS 208 SdryE @5

Four resi ) .
t;nd::ﬂ‘l‘i]:\m :“E 1 4 £, 20 and B0 are connected in Pilrﬂ”'ﬂl- The 'H[uﬁﬂlﬂ'lt value of

: 11

— 25 B 11
) 369 ® 50 © +0 @ U
R ANt 20,40 20 600t B Qe Sarodton BT S8 OSIBS %S
el ol v

1 25 8 Uy

= = U — U (D)
(A) £ B 33 () 8
Mark the correct set of ferromagnetic substances :
(A) Iron, cobalt and nickel (B) lron, copper and lead —

(C) Silicon, bismuth and nickel

& (8o 0" #PI HF ST Songned oot : A4

(A) o5 Forg HBa BBS
(C) 205 D58 Hdck TBS

(B) o05. 55 Soat 8
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23. ® '
When the Lead acid battery i fully charg d

(A) Anode is converted ito Pb
(B).  Cathode is converted into POy
(€)  Specific gravity of H,50, rises about 1.28
(D) Both plates become rei
B8 b8 wpad oy ool sondd® :
’ (A) 'S 85w gnene
i (B) avgts ax B Svihed
(O Seonof el nynsf (mof 12886 DD
I D) es'E Bduts segstE D65 SobmoHD

) 25kVAr
From the above kVA triangle, find the power factor.

f&l 0.80 (B) 0.60 (C) 0.75 (Dy 0.71
B SSeAd KVA [Bebedud’, $55 JpES Jensd Jok *
(A) 0.80 (B) 0.60 (€ 0.75

ta connection line & phase _________ are different and in star
i are same. _

(B). currents, voltages

(D) vaoltages, voltages



C J _
[ ] rﬂhhng nn“ilh] 3 “"‘] Hlﬂﬂumlr}r field Wll"ll.“hﬁ |
(17) stationary armature winding

(B) geun b5 podah |
(D)  g8on ud)yd® poboh

(D) Electrostatic lines of force

MB0d* Bo 258 eat o a8 Fotoh ¢
(A) 2838 et Smesh

(B)  wchdv ol fefutng dvarsd

(C) Debpes Fefatoch Bk schIyod fes
(D) &8 DebgS Spe wok

34. Which of the following materials are used as control rods and coolant respectivel in nuclear
power station ?

(A) Uranjum and Sodiur Lo mﬁ“‘“i“

(€) CraphiteancEaomitm Ve 8 06t 30 GEE of) S
o8 s DigS ol (Srghos’ SB AP & & oo = ST TR
Endolre RGBS ! - _ o

(A) chudnchd HOok Rtacbo




P

s by 2 Amps in coil X and
e of MO

Sﬁ'
Twa coils X and Y are placed ina citeuit such that a current chan
the magnetic fuy change of 04 Wb occurs in coil Y. The mutual indue

(A). 021 (B 16H (C) 0,05 H Dy 05H
So& Do X shbeits Y wl doching® SRS ped, X' ,;3%55 2 wodbabt FBoli% SrbISRG,

Y DGGE 0.4 Fug wahdyod G0 Sty Jobdd. & [Ebod® v Do Bgo SEEY
RO B0 Qo v

(A) 0.2 b (B) 1.6 (C)  0.05 3+l (D) 0.8

37. The coefficient of coupling between two tightly coupled coils wound on a magnetic core is :
(A) Zero (B) 0.5 © 1 (D) 0.6

H"ﬁ“gﬁd}_ﬂg §°6 Do wrer S webSomrSa Both S SHefsod ek ) S rorss Denss

38.
[

(B ™ Tnput + Losses
S '




39,

40.

| P
When 4 hi rr a
Power fnﬂ%}: Pesistive loay is “Onnected 1o o singl-phase transfo At fullload . s in
o and Jou POWer facior nre e y
{B}} :"Eh lagging p & URitY p.f. respectively
s Iﬂ.gg]',ng pa. & Uity I -
b nity p.f. respectively

Bing p.f. respictively

o8 mSy S @ H8 6F Sods sy neEd 0T 695D e
R BIHE S5 V588 B0k, eE S5 B e

(A) Qs TENOR BSE Jook® it Gl 6.5 =
B) 5 evonok s 3§58 SOty el $I5 Jusgs
(€) ctrod 535 S5 S0 Y evghoR 55 E-
(D) il 535 Jecf 00t oty ¢ oegholl 555 SrgyS

The core of pawer transformer is made up of ;
(A)  thin laminations with low resistivity

(B} thin laminations with high resistivity

(C) thick laminations with low remstivft?

(D)  thick laminations with high resistivity
S5 (eS8 5058 BOS® Safeeh qﬁ:@i'
(A) &y S S0 éemm e
(B) e85 DG eSieho 80 a’:m .
(€) oy RO G SR e &
(D) oy DEYES o KO e .ﬁ-




12. Basically, which of the following motors are not self-starting ?
(A) -phase induction motor & Jphase synchronous motor
(B)  1-phase induction motor & 3-phase synchronous motor
€€ 1-phase nduction motor & 3-phase induction motor
(D) 3-phase induction motor. 3-phase synchronous motor & 1-phase induction motor
Eorr, 6 858 et & Irer hyad g W ¢
(A) 33E a0 s anenis So0s 358 RO Dreendh
B) 188 sodgs avencs oatn 308 ROEIS Brends
©) 138 sogs 3encs st 338 BO&KS Frverch
() 328 20215 Anarecs, I-BE RS Averct H0Gts 1-5E 80T Irarcs

)
“E meter constant of an energy meter is 1500 rev/kWh; the disc makes 3000 revolutions in
o1 tme for a given load. The energy consumed by the load is :

(B) 1 kWh (C) 3 kWh

(B) 1kWh (C) 3 kWh

4. A voltage of v =141.4 x sin(100mt + e Sl )
~ of current with A ;..{.“... m&wmﬂmﬂ resist




46.

49.

P

A copper rod o
field of flux ¢
two ends js -

Elength ' m is 1o licular 1o a uniform magnetic
B tated about the end perpendict i
ensity ‘B with o constant angular wlu-:ilﬁr"m'- The induced ¢.m.f. between the

(A) 2Blw?

1 2 1 a2
(") E"-’l{zm} (C) .:-l(B!m | () 3 (B w)

F:;mﬁ*ﬁ%ma@mpmﬁwrmm ‘w & B0 watimod fets
Lon B BBV, u oo U Boch O e B0 bod 0cp8 ol wood

A 1 ! 2 1

A Universal motor operates at 120 V, 50 Hz. The d.c. voltage to be applied for the same
armature current can be -

(A) 240V (B) >120V € 120V (D) <120V
o8 o BSNE InuE 120 L), S0, SSoreiic 20 dosced. o8 ef 8 Kol Tobed
Mﬂ..k.agmmxsm‘i}m:? ; o

(A) 240 && ® >120&8 " (© 120 &8 (D) <120 &4

A single-phase 100 V, 50 Hz is applied 1o a load impedance of 3 () resistor in series with an.
inductive reactance of 4 (. The total power supplied is :

(A) 3333 W (B) 1600 W (© 2000 W (D) 12W00W
Ade* 5053 30 & HE'EE S0k 40 sodlS Set TV Bohd & . |
(A) 33 >  (B) 1600 o (O 2000 »& (D) 120 =

A cube of a material having a resistivity of p(f}~n) and area of cross SecHan & ¥E5
resistance R(£2) equal to : 3

(A) R=p/Va (B) R=pya
‘a (&%) D QIHT 8 PI




51, p, i
forward bias and reverse bias, an ideal diode has respectively.

::; 2 conductance & zero resistance
©) Conductance & infinite resistance
(D) e conductance & infinite resistance
- Conductance & zero resistance
VO SRNEG i et SO m;mmmm____—‘ﬂm'
@) | BoRULE ook Ty Dotes |
®) %m bt eded LG
(©)  80d doagy, souss wiod 16%ED |
(D)  essos ﬂ!{j SH8cts By bl ;

52.  Pick up the wrong statement from the following -
(A) Fuse is used to protect the system against overload

. late the current in an el o
Ohm's law is used to calcu conservation of Charge

Kirchoff's current law is derived from Law of G
: Kmm&;mh#hwﬁdmwdﬁm&muwdwm-?‘W-




55.

56.

5?#

™
Which of i following — 4
(A) h-'h!m_ry vapour lamp oL & discharge latnp 7 |
(€)  Neon lamyy (B)  Sodium vapour lamp
& Bod spet (D) Incandescent lamp
(A) e 2o wa
[C) &ﬁb m u‘EGE (B) RAato 366 b"i';‘ﬁ
S
£t (D) adevjotmof ovgod
If the Power
(A) imw“'“\ﬂhlddecwmu.lhnmuﬂnhmhnfkm"‘
©) serd (B)  decreased by two times
tecreased by 15 times (D) constant
A
A d.c. motor takes a large value of current at the time of starting due 1 -
(A) high armature resistance (B weak shuntfield
(C) armature reaction (D) absence of back emf.
: F

B8, Bren SO (o MOt DS Bndos® BB06H SHEIrRS wdads
(A) &B)E V6% adpdr Joba (B |
(C) =85 osirg S '

. e
. | b

1 PR
L Tard (s Wt e -
s oE i - Ly ru
e g . :
] I i B < ‘,



(7]

o ' i - ternal resistance
Mm!lﬁﬁfr Bravity of electrolyte (H,50,) ina lead acid cell increases, the in
(
{C‘: :Im.tm “lll'llﬂllﬂ:‘_&[ {Hj (] ik peaed a
ar d&“w (D) i equal to losae] resistince
4 g0t w O
cﬁnu;m Bt Jodh s QR (H50,) Gng), Tded (r0d BOAGS. @ g
SO Dt
& :: j % ; (B) DoHD
: (D) £ n5%%6* Adndis
60, NP
[I:;n 2 lyn Hi-puim junction transistor ;
(B ! Current + Base current =)
{C:; Current = Emitter current + Collector current

Or current = Base current + Emitter current
(D) E““EEI' current = Base current + Collector current

I e
(A) 2265 gBog + 25 300
(B) 35 Bof=o065 Dol + J0gf Dol
(C) %8 @od=a5 o + 205 B0l
(D) 208 88065 =25 5306 + soif 8308
§ =a
Al ‘lm:f_ designed on the basis of :
(A) “- ent carrying capacity

-4

er factor of the load (©)
5 D (PEIOLT Sty st

3 Srcbirie Jnaby

[,
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64.  Which of the followi
of its rated E.n:f. 2 & will not prevent a self excited d.c. shunt generator from building up

A i o

{C} no residual magnetism (B)  wrong direction of rotation

(©)  rated speed (D) open field winding

& [Bod 06° Db BIBE 8.8 foff Bdubs® 93500 ol BudiG &)
wwgom%fa FioDd Dby el wusnd s

(A) 38 scbdpodass 88 Hudso  (B) ohy Segand® Boros

(© ofsssa (D) 6Fomof oadtge

R

65.

A thyristor (SCR) is a : —

i.]—‘.l-l
il -




S R

P
5 . SECTION - B

{Al h‘: d“t}* i5 a tax levied on the !
S mport of goods (B)  Export of goods

Production of goods HY) Sale of goods

-J-&J. a0 B Doodsh v
::: SBFo 8606 (B) Sde Sbso

SpSo aayg D) Spgo esgydt

-

67.
E':; "*hiu. date World Maths Day is being celebrated 7
October 15 (B)  November15 (C) September9 (D) August2)
B80 s 05505 5 6% 2gEmoms ¢ |

(A) etz 15 (B) owb 15 ©) youb 9 (D) =g 21

68. will not affect :
"{&f;_muuls (B) Plants (©) Ozonelayer (D) Earth

(O) ts'sdy (D) &ras

International Seed Testing Association Congress was: hﬂﬂmjmﬁ'
re (B) Hydemhd |H.{C,l Vijayawada @ ore
Y SBE Soh SdrI wml 2 ‘mw:. MHESE*

(B) w o

ed vitamin ‘C’ ? .
(B) F.G. Hopkins

.ﬁn QD ¢
(B) a5.e. sty

-

5| I'.:‘ --!I ﬁ E ' -‘__-;_.-.IE-{



T s N\

€ 72 The term 2
. two £ of Chickmn : .
(A) c;:]i.lmes ’ hmmmh’ used in media to describe relations between which |
1a - Pakistay,
(C) Usa . Russig :g} B = b
¥ 5°a B8’ SIS o o ) USA - Iran

MO 505 Bomosatins e Hafoen DEEdodS t
(A) gy, _ et ey

| T

; T Ry (D) af.abB.3, - aovd

73. ich i
T“fh 15 the largest district in Telangana interms of area ?
(A)  Komaram Bheem (B} Bhadradri Kothagudem
(€©)  Warangal Rural (D) Peddapalli
S0 bE® 8 2 2o Suorrs oog atng® ; |
(A) 505 65 (B) dfeelr Seftr0 _
(C) SorE cess (D) o0 e

E b

74. Who was recently awarded 2019 Nobel Pﬁmin Economics ? ;r
(A) Amartya Sen | '
(C) Nandana Sen e
2019 BoSH)ooD8 6BY 4508° T'BE aFSHB!
(A) ergg®S
(C) SobeHS

a

75.  Which is the National bird of Telz

76.
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‘ I

_r I

77.

Justice Vashishia Bhargava Committee looked into the issue of :

(4)  Telangana surpluses (B) Telangana employees

(©) Sharing of river waters (D) Telangana Regional Committee
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Mﬂﬁd'ﬁ! barrage in Telanagna state is renamed as :

(A) " Saraswathi barrage (B) Parvati barrage
(©  Lakshmi barrage (D) Nandi barrage
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79. Who was the author of the novel “Chillara Devullu” ?
(B) Dasarathi Ra |
-(b}',, ~Suravaram Pratapa Reddy






